	Ecosystems Study Guide

	Name
	


	1.
	Which interaction benefits both organisms? 

	 
	A.

a flea living on a dog 



	 
	B.

a bee pollinating a flower 



	 
	C.

a tapeworm living inside an animal 



	 
	D.

a mosquito biting a person 




	2.
	A large quantity of heavy rain falling in a short time period will most likely 

	 
	A.

reduce the amount of nutrients in the soil. 



	 
	B.

increase the number of minerals in the soil. 



	 
	C.

reduce oxygen levels in the soil. 



	 
	D.

increase the temperature of the soil. 




	3.
	Fertilizers added by farmers to the soil contain high amounts of nitrates. How do fertilizers affect the nitrogen cycle? 

	 
	A.

More nitrates are available for plants to absorb. 



	 
	B.

More nitrates are available for animals to eat. 



	 
	C.

More nitrogen gas is released into the atmosphere. 



	 
	D.

More nitrogen is converted by bacteria into nitrates. 




	4.
	Which organisms contribute most to the decomposition of dead organisms? 

	 
	A.

snakes 



	 
	B.

viruses 



	 
	C.

insects 



	 
	D.

bacteria 




	5.
	A certain snake species in an ecosystem eats small rodents. If a bird species is introduced into the ecosystem that also eats small rodents, which of these will most likely increase? 

	 
	A.

parasitism 



	 
	B.

migration 



	 
	C.

mutualism 



	 
	D.

competition 




	7.
	What best describes the reaction of a new population to an increase in the amount of space it occupies?

	 
	A.

The population will die out.


	 
	B.

The population will remain constant.


	 
	C.

The population will grow exponentially.



	8.
	In a marine ecosystem, which gas is needed by algae to produce oxygen?

	 
	A.

chlorine


	 
	B.

nitrogen


	 
	C.

hydrogen


	 
	D.

carbon dioxide



	10.
	The diagram shows some organisms in an Antarctic food chain.
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Which best describes the role of krill in this food chain? 

	 
	A.

producers 



	 
	B.

decomposers 



	 
	C.

primary consumers 



	 
	D.

secondary consumers 




	12.
	How does the energy in each trophic level of an energy pyramid compare to the energy in the preceding level? 

	 
	A.

It has about 5% of the energy from the level below it. 



	 
	B.

It has about 10% of the energy from the level below it. 



	 
	C.

It has about 15% of the energy from the level below it. 



	 
	D.

It has about 20% of the energy from the level below it. 




	14.
	Decomposers increase the fertility of the soil and prevent dead organisms from building up in the environment. In which way do decomposers make the soil more fertile? 

	 
	A.

by adding carbon 



	 
	B.

by adding nitrogen 



	 
	C.

by removing excess water 



	 
	D.

by removing excess minerals 




	16.
	Which best explains the role of plants in the carbon cycle?

	 
	A.

Plants take in oxygen and release carbon dioxide.


	 
	B.

Plants take in carbon dioxide released by other organisms.


	 
	C.

Plants take in carbon dioxide and pass it directly to animals.



	17.
	The diagram below shows a forest food web.
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If deer were introduced into this ecosystem, which would most likely occur first?

	 
	A.

The beetle population would decrease.


	 
	B.

The grass population would decrease.


	 
	C.

The robin population would decrease.


	 
	D.

The snake population would decrease.



	20.
	A jetty is a structure that projects into the sea. Two types of jetty construction are shown.
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Which difference in the jetties would most likely account for Jetty B to be considered better for establishing a fish habitat? 

	 
	A.

Jetty B reduces beach erosion. 



	 
	B.

Jetty B allows more light into the water. 



	 
	C.

Jetty B decreases the temperature of the water. 



	 
	D.

Jetty B provides more places for organisms to live. 




	24.
	Which best describes mutualism?

	 
	A.

Ticks live and feed on dogs and other animals’ blood to survive.


	 
	B.

Mushrooms send out long, underground structures which allow them to grow in other areas.


	 
	C.

Ants attack animals that try to feed on the acacia tree, and the ants feed on the nectar of the tree.



	25.
	In the nitrogen cycle, nitrogen can return to the lithosphere directly from the atmosphere by 

	 
	A.

lightning. 



	 
	B.

air pollution. 



	 
	C.

condensation. 



	 
	D.

cellular respiration. 




	29.
	Which is the best term to describe organisms living together in their ecosystem?

	 
	A.

parasitism


	 
	B.

competition


	 
	C.

coexistence



	30.
	Which is an example of parasitism?

	 
	A.

cat and mouse


	 
	B.

tadpole and frog


	 
	C.

human and tapeworm


	 
	D.

caterpillar and butterfly



	31.
	A pride of lions stalks, tackles, and kills an antelope. Which is best being demonstrated?

	 
	A.

predation


	 
	B.

mutualism


	 
	C.

cooperation



	32.
	Which best explains cooperation?

	 
	A.

a colony of ants working together to build an ant colony


	 
	B.

a butterfly getting nectar from a flower


	 
	C.

male deer fighting for territory



	33.
	Which shows the correct flow of energy through this simple food chain?

	 
	A.

fox → grass → rabbit


	 
	B.

grass → fox → rabbit


	 
	C.

grass → rabbit → fox


	 
	D.

rabbit → grass → fox



	34.
	Which molecule is necessary in order for respiration to occur in plants and animals?

	 
	A.

nitrogen


	 
	B.

oxygen


	 
	C.

sulfur


	 
	D.

water



	38.
	Which statement about parasitism is most true?

	 
	A.

Both organisms benefit.


	 
	B.

Both organisms are negatively impacted.


	 
	C.

One organism benefits and the other is negatively impacted.
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